NOERROR for ‘.br’

Pv6

Dual-Stack

EDNS0:512 EDNSQ:1232 EDNSQ:4096

9

EDNS0:512 EDNS

All Zones without DNSSEC returnin

IPv4

EDNS0:512 EDNS(:1232 EDNSP:4096

1000; X >Y

sui(3w( x)loua g —

S x)ouamp)Sop = (A) S

Y

-1000;X <Y

:1232 EDNSQ:4096

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

I Path 1280 (no PMTUD)
- 1280 (no PMTUD)
PMTUD)

no PMTUD)
280 (no PMTUD)
PMTUD)

TT 1T
—_—
n
[o2)
o

Path 1280 (no PMTUD)
280 (no PMTUD)
PMTUD)

LU
—_—t
N
[o°]
o

0
V]

th 1280 (no PMTUD)
1280 (no PMTUD)
1280 (PMTUD)

1500

ath 1280 (no PMTUD)
80 MS_U TUD)
80 (PMTUD)

TT 1T
ne

LU
—_—t
[S21\ 1))

1280 (no PMTUD)
no PMTUD)
0 M_u_/\_._.c_uv

g
SN

S0+
SOo~

L L
g =
aindnd
by Q
o

th 1280 (no PMTUD)
80 Mzow TUD)
80 (PMTUD)

LU
—_—

0
V]

th 1280 (no PMTUD)
80 (no PMTUD)
80 (PMTUD)

LI
—_—a
aindnN
o
o

T T
2621:0SNA3 9607:0SNA3
PAdI

¢15:0SNa3

c1g:0sNa3a

T T
262 H0SNA3 9607:0SNA3
9AdI

T T T
C1G'0SNa3 2€2H0SNa3 960%:0SNA3

OelS-leng

Dual-Stack

IPv6
EDNS0:512 EDNSD:1232 EDNSD:4096

IPv4

EDNS0:512 EDNSP:1232 EDNS

All Zones with DNSSEC returning NOERROR for “.br’

1000;X >Y

sui(3( g)louawy —

Sy ouaw]

FO;X=Y

)5o1 = (A)S

-1000;X <Y

EDNSQ:4096

EDNS0:512 EDNSQ:§232

- 1280
- 1280
- 1500

- 1280
- 1280
- 1500

- 1280
- 1280
- 1500

- 1280
- 1280
- 1500

- 1280
- 1280
- 1500

- 1280
- 1280
- 1500

:4096

- 1280
- 1280
- 1500

- 1280
- 1280
- 1500

- 1280
- 1280
- 1500

¢15:0SNa3

T T
2€2H0SNA3 9607:0SNA3
PAdI

21g:0SNa3a

T T
2£2H0SNA3 9607:0SNA3
9dI

T T T
C1S'0SNQ3 2e2H:0SNa3 960%:0SNA3

oelS-lendg

I Path 1280

no PMTUD)
no PMTUD)
M_u_,\_.ﬂc_uv

- Path 1280 (no PMTUD)

M:o wqc_uv
PMTUD)

I Path 1280 (no PMTUD)

:o_u._.cov
PMTUD)

- Path 1280 (no PMTUD)

Mzo wqc_uv
PMTUD)

I Path 1280 (no PMTUD)

:o_u._.cov
PMTUD)

- Path 1280 (no PMTUD)

Mzo wqc_uv
PMTUD)

I Path 1280 (no PMTUD)

:o_u._.cov
PMTUD)

- Path 1280 (no PMTUD)

M% wqc_uv
PMTUD)

I Path 1280 (no PMTUD)

:o_u._.cov
PMTUD)

Dual-Stack
EDNS0:512 EDNS(:1232 EDNSQ:4096

IPv6

IPv4

EDNS0:512 EDNS(:1232 EDNS(:4096

All Zones returning NOERROR for “.br’

1000;X >Y

sut(30( g)louawy —

S x)Couay)So) = (A) S

FO;X=Y

-1000; X <Y

:1232 EDNSQ:4096

EDNS0:512 EDNS

lwafmmo:o_u_,\_é_uv
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 150

Path 1280 (no PMTUD)

o M:o _uqcov
PMTUD)

L L
—_—
aindnN
o000
o

Path 1280 (no PMTUD)
0 (no PMTUD)
m PMTUD)

LU
—_—
aindnN
[@]ecle]

Path 1280 (no PMTUD)
TUD)

PMTUD)

LU

Path 1280 (no PMTUD)
280 (no PMTUD)
mmo PMTUD)

TT 1T

Path 1280 (no PMTUD)
no PMTUD)
M_u_,\_.ﬂcov

L L
—_
aindn
OO0
[ele]e]

Ry
2
>

1280 (no PMTUD)
no PMTUD)
M*u_s._.c_uv

L L
—“
aindnN
o000
ooo

th 1280 (no PMTUD)
oMS_u TUD)
0 (PMTUD)

g
V]

aindnN
[os]e]

LU

-
o
o

)
V]

th 1280 (no PMTUD)
80 (no PMTUD)
mm PMTUD)

TT 1T
—_—a
aindnN

c1g:0SNa3

T T
2€2H0SNA3 9607:0SNA3
PAdI

¢1g:0SNa3

T T
2621:0SNA3 9607:0SNA3
IdI

T T T
C1G'0SNa3 2egh:0SNa3 960%:0SNA3

oElS-lend



